MARISCAL CACERES

CURSO : TRIGONOMETRÍA 
TEMA  :  f. T.  DE VARIABLE DOBLE

1. Reducir : 

E  = (tgx+ctgx) . sen 2x

a) 1
b) 2
c) 3

d) 3/2

e) 2/3

2. Simplificar :

E = (ctgx – tgx) . sen 2x

a) senx
b) cosx
c) 2senx

d) 2cos2x

e) –2cos2x

3. Si : 

5senx = 4cosx

Determine :

tg2x

a) 20/9
b) 20/3
c) 40/9

d) 20/9

e) 15/7

4. Si : sen 2x = 
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Calcular : 

E = 
[image: image2.wmf]x
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a) 7/9
b) –7/9
c) 2/9

d) –2/9

e) –2/7

5. Reducir :

E = cosx(cosx+secx)-senx(senx+cscx)

a) 1
b) sen2x
c) cos2x

d) 2senx

e) 2cosx

6. Reducir :
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a) sen2x
b) cos2x
c) sen4x

d) cos4x

e) sen8x

7. Si :  
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Determinar :

E  = cos2x + cos2y

a) m-1
b) m+1
c) m+2

d) 2(m-1)

e) 2(m+1)

8. Si : tgx + ctgx = 4

Calcular :
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a) 2
b) 4
c) 6

d) 8

e) 10

9. Reducir : 
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a) senx
b) sen2x
c) sen3x

d) sen4x

e) 4sen2x

10. Del gráfico, determine “x”.
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a) 3/5
b) 4/5
c) 5/4

d) 8/5

e) 5/3

PROBLEMAS ADICIONALES

1. Simplificar :
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a) tg2x
b) ctg2x
c) 2tg2x

d) 2ctg2x

e) 2

2. Si :  senx + cosx = 
[image: image9.wmf]8
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Calcular : 

E = (secx+cscx) . sen2x

a) 1/2
b) 2/3
c) 3/4

d) 4/5

e) 5/6

3. Si : tgx + ctgx = 3

Calcular :
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a) 5
b) 6
c) 7

d) 8

e) 10

4. Si :  sen2x = 
[image: image11.wmf]5
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Calcular :
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a) 19/25
b) 21/25
c) 22/25

d) 23/25

e) 24/25

5. 
Si : 
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Determine :
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a) 
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b) 
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c) 2
[image: image17.wmf]6



d) 
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e) 4
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6. Reducir  : 
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a) sen2x
b) cos2x
c) sen4x

d) cos4x

e) 5/3
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